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B 2R B BFR s HE FEAE
KE % : 1A=10"m
£
PR OCK) m 1m=100cm=3.2808ft=3 T ]
ER ft 1ft=12 in=1/3yd=0.3048 m=0.9144 TH R
TR 1 HR=0.13=10 <= 1/3 m=1.09336ft
nNE km 1km=1000m=0.6214mile=2 TH E
EE mi, mile Imile=1.609344 km=0.869 n mile=3.219
e
BE n mile In mile=1.852km=1.150mile=3.704 T E
e 1 m B =150 m X
=0.5km=0.311mile=0.270n mile
pior:3 L.Y. 1 L.Y.~9.460,730 x 10" m
[EE2 EAYS b 1b=102%m?
ERRE km? 1km2=100 hm?=0.3861mile>=4 L5 B
FERHAK m? 1m?=10.7639ft>=1.1960yd=9 L5 H R
YN=:] a 1a=100 m*=0.0247 EE=0.15 TH
N hm?(ha) 1 hm?=10000 m*=0.1km?=100 a=15 T
= 1 ZEE=4840yd*=40.4686a=6.0720 T
Ol 1 E=10 T 4=60 3 26.667 a=0.1644
®E
TR 1 =100 T E~6.6667 hm?
AR MNFAK m? 1 m*=35.3147ft=
MFEXK cm? 1 ¢cm3=0.000001 m3
MNBERR ft3 1 f3=1728in?=0.028317m?>
NATR 1 32 5 ™ R =1000 32 5 M ~F =
0.037m3=1.3078ft3
AR Ft L,1 1L=1dm*=10°m3=0.220gal () =1 HFt
It 1 =10 T56=0.1 3=1 7+
me (%) gal(UK) 1gal=4.546 dm3=4.546 T+
HwRE (%) bu(US) 1 bu = 35.23902 dm?
(3, i) 1 #&=42 gal(US)
g YN kg 1 kg =1000g=2.205 1b=2 T T
53 Ib 1 Ib =16 0z=0.4536kg=0.907 T T
BHT 0z 1 02~28.34952g~31.1034768¢g (&)
iy t 1 t=1000kg=2000 71 Fr
KEIFERL 1 52H=200 mg
i 1 T =10 T F=500g
B! 1 TH$B=100 T /7
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A H[45] N(kg - m/9)
F=h kgf =9.80665 N
IKE dyn =105 N
BEE j=A=1 JIN - m)
IRI% erg lerg=107]J
BUER cal 1 cal=4.184 ]
EpfrzESEkFR cal 1 cal=4.1868 J
R VAR kgf-m 1 kgf'm = 9.80665 J
TNT I = ~4,184x10°J
E7, E | tAHETR] Pa(N/m?)
58 = Bar,b 1b=10°Pa
i Torr 1 Torr=133.322 Pa
FrRERSIE atm 1 atm=101.325 kPa
IRRS[E at 1 at=98.0665 kPa
BARRE mmHg 1 mmHg~13.595mmH,0~133.322 Pa
ZRIKEE mmH,0 1 mmH,0=9.80665 Pa
FRNOGEFEXK | kgflem?
Ih& EL[%%] W(J/s)
NP 1 5 1=7.3549875 x 102°W
BMIDf 1 §5H=746x10°W
mE ROZFREFIR|K
X]
RIKEE oC 1°C =1K
HtRE °F 1 °F=5/9 K
& NEE] V(W/A)
R 7T EE[ €] C(A - s)
FRE B [45] Q(V/A)
BS Al 1F] S(QY)
R Z[3E] A(V/QY)
A P EA F(C/V)
WIBE F1H] Wb(V - s)
HBE JR[EA] Lm(cd - sr)
[FEIRRE | (528 Lx (Im/m?)
=22 SR xRE N
B2 BT 2R & ==E{v2 HaE By
=
(B EER | WAT[#17R] Bq 1Bq=1s", 1Bq=2.7x101'Cj
BE Ci 1 Ci=3.7 x 10101 1Ci=3.7x 1019 Bq
&[T ]8E £EH J
EEH[F18E X [H] Gy 1 Gy=1 J/kg 1Gy=100 rad
g U5 &,D
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Sl =gz X[ gR Gy/s | Gy/s

EE B RhAE X [H] Gy 1 Gy=1 J/kg

EE R BfRE R kST Gy/s

FIEHEH BUREF] Sv 1Sv=1 J/kg 1Sv=100rem

FIEHE: BRI S Sv/s | Sv/s

RS E EC18Tx Clkg 1 C/(kg)=3876R

MRS E 5 R 1 R=2.58 x 10" C-kg"!

RETEE ECIBTRY Cl(kg-s)

RFRELN u 1 u=1.660540x1027kg

Em A b 1b=1028m?

REE TR eV | 1eV=1.602177x10"°J

= 2-3 AT ERRS Y SIak
54 TSk BFR &=
X i

102 yotta x[E] Y
102! zetta ZE[E] Z
10'8 exa XA FE] E
10" peta H[E] P
1012 tera yNE| T
10° giga = G
106 mega JK M
103 kilo + k
10? hecto =) h
10! deca + da
10! deci o d
102 centi [E c
107 milli =z m
10¢ micron ™ u
10 nano ME) n
1012 pico FZ[M] P
1015 femto K[EHTE] f
1018 atto FAT[#E] a
102! zepto IR[EHE] z
10-24 yocto Z[RHE] y
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